EARAROBEEIERT — 2 N— IBISH —F

201210870 (H) 4E=#28

) (F18) EE

(xwlw | lmEmml - |2 5 oom &

HEl<%s 16005TF ¥5%3%L (B
&

[A~&<£] 1 7% 17,000,000 § 2 7% :6,800,000 @ 3

14,300,000 B

4 7% 12,600,000 53 1,700,000 F

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R S w4 | JIBERE 1:58.6 6-6-7-7 | 34.2[104.3| 1 440 | MIIZF (RF)
1188 |F-Yr=TN 57.0 e o) | BEEE ()
RAFAd—IV K B:T7T— HE77—»4L
> 354 s 4 | FIEEBEZ 1:58.6 4-4-3-3 | 34.6 [ 104.4| 3 482 | EKAE (RR)
2|55 | ¥T*Tr>X 55.0 (7€) +8) W) 5Ty KI5T-5T4T
LA-—JX1224 B4y bolausgr EvJiLy RT77—L4L
. _ 43 | AEEN 1:58.7 2-2-2-2 | 34.9(103.4| 2 432 | AHE (ER)
3 &N 3 L1>74—=I)b 55.0 (4 €) ) RREEH
LFATA T v— BITr7Y—F14 ) — TERHS
S 3. 4 o6 | ERMAENT 1:59.0 1-1-1-1 | 35.3|100.4| 7 534 | SEEE (FH)
4 WM 4 ®@Xf37H%Ivy b 57.0 @) +6) AR
RV R UZXIR B:RIVED L EEicke]
e = 4 6 | EDHN 1:59.0 7-6-6-5 | 34.8|100.2| 5 488 | PERFE (EH)
5/1|1|FVE7Z2FF 57.0 (74%) (+10) |, WK A—=23
RHLRA L E = BAAVELRY T L HET7— L
$ 5 | =X 1:59.7 4-5-5-5 |35.6| 93.3 | 6 468 | BEEZ (EX)
[ 6 RS 57.0 @ (g) | EEER
RNy BEHTT BALTL)—T ILRLRT7—L
> R N o4 | FHBZ 1:59.8 8-8-8-8 [35.2| 91.9 | 9 442 | EEEZ ()
TR 2| YTRMFTY 57.0 (7€) o) | B 55Ty k5T 5747
:aZ /XLy b BiRAZANT EvJLy RT7—L4
ERTRNGN 4 8 | HAWLBLE 2:00.1 3-3-3-3 [ 36.2|89.8 | 8 514 |MEER (RX)
8189 Y F—TH1F 57.0 @ (+4) e
RHLRA Y E— BITIIN—F J—H Ty — L
KRS BN #H o4 | REBC 2:01.3 9-9-9-9 [355| 76.5 | 4 470 | BERM (FR)
ol7l7|T=>>Trupn 57.0 ) o) | ) e
R:T7TFEE BIALUsS YL SERIS
@ 71 L
) 46.9-34.9
NaO>24 L | 12.5-11.0-12.0-11.8-12.0-12.4-12.0-11.7-11.2-12.0

® 1 —F—@EBIRfL

13—F— [4,3,9(5,6)-8,1,2-7
2a—F— |4-3,9,5,6-(1,8)-2-7
33—7F— |4,3(596,1,8,2=7
43—+ | (+4,9) (5,9 (1,6)8,27

ABICOVWTRDTEEERROODE. TR LIV,




